OB R — R GEEHER)

A4 FPE A H
HHHH 2 o5
gﬂ & 5 (6.15'1: (7.151~_ (8.15'1\j (9.151; (10.1%1@ (11.151_~®
(% 3) 6.45m) 7.45m) 8.45m) 9.45m) 10.45m) 11.45m)
wEEE e
C|EREE geew)
| BRFOBE p/end| L2 | 2734
BAREARE wa %) L
R S R N A K R S
g1 F S, %
F oy (ThmmBAE) %) 0.0 | 00 | 00 | 00 | 00 | 00
B yPe~omm) %] 43 | 42 | 150 | 390 | 00 | 0.0
K ,??,fﬁfjf‘?-f’????{n@,% ,,,,, 385 | ____ 5T | 68.0 | 128 |46 | 5.2
> \1 5~
,Z?f?{,l)f?"i()f,?'f’ﬁ“{“ff’/‘z boy7p L2041 b 169 TSR N 736 | 526
RSy O.005mmeA) %)\ T 218 | 342
B K KL & mm| 37500 | 19.000 | 19.000 | 37500 | 0.850 | 2.000
g | POF MR F U | e I N SR S B S R (S 19.0
Sl R R oy 690 | 674
oo R owe )\ 29 | 2.9
Solmmute || w2 | s
T'Fi
sy | B BB D RISV EERVEHE AIRLAYELRD | RIS TR D WKL D Rt BECOE+
g |7 B AL (R | (R
| B R 5 (GFS) (SF) (SEG) (SFG) (CH) (CH-=S)
R - R N S R R R
JE|E # 48 %G
L S R A A B
- O IS Al
_ | TEEMERSqu KN/
i
S S [ —
I I U O A S
AT T R I N B I A
R L
oo b e 0
¢’ kN/nt
s s T R e e
e 1) & bR -7 Smma o LB TR
CHTBESETRT,
[1kN/ nf =0.0102kgf/c nf]
6161

N

bR

ST D=HDYEAHERIER DO —1F



